

## GENESEE COUNTY ROAD COMMISSION

Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995 Website: www.gcrc.org

Board meetings: first and third Tuesdays at 10:00 A.M.

Phone: (810) 767-4920 Toll Free: (800) 249-4027 Fax: (810) 767-5373 – Administration Fax: (810) 767-3634 - Maintenance

DATE:

June 26, 2023

TO:

Cadillac Asphalt LLC

**SUBJECT:** 

**Bid Tabulation** 

2023 SB I-75 Ramps, Flint Township

GCRC No. 518-TBD

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on June 21, 2023. All bid(s) were rejected by Michigan Department of Transportation.

Sincerely,

GENESEE COUNTY ROAD COMMISSION

Richard Hill, P.E.

Design Department Manager

Enclosure

cc:

EJ

AP

RH

GG

TK

File

•

## **Bid Comparison**

**Contract ID:** SB I75/M21Ramps **Description:** Ramp Maintenance

Location:

SB I-75/M-21 Ramps Flint Township

Projects(s): SB I75/M21Ramps

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$185,115.41	-64.98%	0.00%
1	(_1) Cadillac Asphalt LLC	\$528,711.18	0.00%	185.61%

Line Pay Item Code  Description	Quantity	Units	(0) ENGINEER'S E	STIMATE Total	(1) Cadillac Asphalt <b>Bid Price</b>	LLC <b>Total</b>	Bid Price	Total
0001 1500001 Mobilization, Max	1	LSUM	\$20,000.00	\$20,000.00	\$62,750.00	\$62,750.00	Did i fice	\$0.00
0002 3077031 Shoulder, Class II, Modified	50	Ton	\$30.00	\$1,500.00	\$210.00	\$10,500.00		\$0.00
0003 4030004 Dr Structure Cover, Adj, Case 1, Modifi	1 ed	Ea	\$1,200.00	\$1,200.00	\$4,000.00	\$4,000.00		\$0.00
0004 4030010 Dr Structure Cover, Type B	1	Ea	\$600.00	\$600.00	\$800.00	\$800.00		\$0.00
0005 4030020 Dr Structure Cover, Type CX	5	Ea	\$1,000.00	\$5,000.00	\$1,250.00	\$6,250.00		\$0.00

Contract # SB I75/M21Ramps (SB I-75/M-21 Ramps Flint Township) MERL: 2022.11.0

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S	ESTIMATE	(1) Cadillac Asphal	t LLC		
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0006 4030050	4	Ea	\$750.00	\$3,000.00	\$1,250.00	\$5,000.00		\$0.00
Dr Structure Cover, Type h	<							
0007 5010002	8,225	Syd	\$1.50	\$12,337.50	\$13.95	\$114,738.75		\$0.00
Cold Milling HMA Surface								
0008 5010008	26	Syd	\$8.00	\$208.00	\$35.00	\$910.00		\$0.00
Pavt for Butt Joints, Rem								
0009 5010025	43	Ton	\$120.00	\$5,160.00	\$115.00	\$4,945.00		\$0.00
Hand Patching								
0010 5012085	821	Ton	\$120.00	\$98,520.00	\$233.50	\$191,703.50		\$0.00
HMA, 5EML, High Stress								
0011 5017001	388	Ft	\$15.00	\$5,820.00	\$45.00	\$17,460.00		\$0.00
_ Pavt Joint and Crack Re	pr, Det 7, Spec							
0012 5017001	195	Ft	\$20.00	\$3,900.00	\$55.00	\$10,725.00		\$0.00
_ Pavt Joint and Crack Re	pr, Det 8, Spec							
0013 8110024	14	Ft	\$3.00	\$42.00	\$5.00	\$70.00		\$0.00
Pavt Mrkg, Ovly Cold Plas	tic, 6 inch, Crosswalk							
0014 8110045	58	Ft	\$11.00	\$638.00	\$12.00	\$696.00		\$0.00
Pavt Mrkg, Ovly Cold Plas	tic, 24 inch, Stop Bar							
0015 8110051	1	Ea	\$500.00	\$500.00	\$235.00	\$235.00		\$0.00
Pavt Mrkg, Ovly Cold Plas	tic, Wrong Way Arrow S	Symbol						
0016 8110063	1	Ea	\$300.00	\$300.00	\$190.00	\$190.00		\$0.00
Pavt Mrkg, Ovly Cold Plas	tic, Lt Turn Arrow Sym							
0017 8110070	1	Ea	\$400.00	\$400.00	\$205.00	\$205.00		\$0.00
Pavt Mrkg, Ovly Cold Plas	tic, Rt and Lt Turn Arro	w Sym						
0018 8110071	2	Ea	\$300.00	\$600.00	\$190.00	\$380.00		\$0.00
Pavt Mrkg, Ovly Cold Plas								
0019 8110233	3,381	Ft	\$0.12	\$405.72	\$0.25	\$845.25		\$0.00
Pavt Mrkg, Waterborne, 6								
0020 8110234	1,220	Ft	\$0.12	\$146.40	\$0.25	\$305.00		\$0.00
Pavt Mrkg, Waterborne, 6								
0021 8110237	240	Ft	\$0.20	\$48.00	\$0.50	\$120.00		\$0.00
Pavt Mrkg, Waterborne, 12	2 inch, White							

Line Pay Item Code	Quantity Units	(0) ENGINEER'S E	STIMATE	(1) Cadillac Asphalt	II C		
Description	qualitity office	Bid Price	Total	Bid Price	Total	Bid Price	Total
0022 8110253	3,381 Ft	\$0.09	\$304.29	\$0.18	\$608.58		\$0.00
Pavt Mrkg, Waterborne, 2nd App	olication, 6 inch, White						
0023 8110254	1,220 Ft	\$0.09	\$109.80	\$0.18	\$219.60		\$0.00
Pavt Mrkg, Waterborne, 2nd App	olication, 6 inch, Yellow						
0024 8110257	240 Ft	\$0.18	\$43.20	\$0.40	\$96.00		\$0.00
Pavt Mrkg, Waterborne, 2nd App	olication, 12 inch, White						
0025 8110351	1,250 Dlr	\$1.00	\$1,250.00	\$1.00	\$1,250.00		\$0.00
Witness, Log, \$1,250.00							
0026 8110451	195 Sft	\$3.00	\$585.00	\$2.50	\$487.50		\$0.00
Recessing Pavt Mrkg, Transv							
0027 8120012	8 Ea	\$340.00	\$2,720.00	\$60.00	\$480.00		\$0.00
Barricade, Type III, High Intensit	y, Double Sided, Lighted	,					
Furn 0028 8120013	8 Ea	\$100.00	\$800.00	\$1.00	\$8.00		\$0.00
Barricade, Type III, High Intensit		,	Ψ000.00	Ψ1.00	Ψ0.00		ψ0.00
Oper							
0029 8120140	1 Ea	\$100.00	\$100.00	\$300.00	\$300.00		\$0.00
Lighted Arrow, Type C, Furn							
0030 8120141	1 Ea	\$100.00	\$100.00	\$50.00	\$50.00		\$0.00
Lighted Arrow, Type C, Oper							
0031 8120160	1 LSUM	\$3,000.00	\$3,000.00	\$20,000.00	\$20,000.00		\$0.00
Ltg for Night Work							
0032 8120170	1 LSUM	\$8,000.00	\$8,000.00	\$67,000.00	\$67,000.00		\$0.00
Minor Traf Devices							
0033 8120252	62 Ea	\$19.00	\$1,178.00	\$14.00	\$868.00		\$0.00
Plastic Drum, Fluorescent, Furn							
0034 8120253	62 Ea	\$1.50	\$93.00	\$1.00	\$62.00		\$0.00
Plastic Drum, Fluorescent, Oper	-						
0035 8120310	1 Ea	\$100.00	\$100.00	\$30.00	\$30.00		\$0.00
Sign Cover							
0036 8120332	2 Ea	\$2,100.00	\$4,200.00	\$1,350.00	\$2,700.00		\$0.00
Sign, Portable, Changeable Mes	ssage, NTCIP-Compliant,						

Contract # SB I75/M21Ramps (SB I-75/M-21 Ramps Flint Township) MERL: 2022.11.0

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S ES	STIMATE	(1) Cadillac Asphalt	LLC		
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0037 8120333	2	Ea	\$300.00	\$600.00	\$200.00	\$400.00		\$0.00
Sign, Portable, Changeable Messag	e, NTCIP-Co	mpliant,						
Oper		0.5	ho =0	#4 000 00l	40.00	a.		40.00
0038 8120350 Sign, Type B, Temp, Prismatic, Furn	378	Sft	\$3.50	\$1,323.00	\$3.00	\$1,134.00		\$0.00
0039 8120351	378	Sft	\$0.75	\$283.50	\$0.50	\$189.00		\$0.00
Sign, Type B, Temp, Prismatic, Oper								
Bid Totals:				\$185,115.41		\$528,711.18		